_6u
3 n

_1 3"

* “ _6"

! "
r

——

90°

ITEMS IN RED NOT SUPPLIED BY HENDRIX

ITEM DESCRIPTION QTY | DESIGN PARAMETERS
1 |DEAD-END BRACKET, HENDRIX TYPE BD-35 2 |15kv
2 |INSULATOR, PIN TYPE, HENDRIX HPI-15VTP 3 90DEG CIRCUIT CORNER
3 |INSULATOR PIN, HENDRIX SSP-2 3
4 |INSULATOR, POLYMER DEAD-END, HENDRIX TYPE DEINS15 7 TITLE
5 |HENDRIX AERIAL CABLE (SIZE AND TYPE AS REQ) AS REQ | DEAD-END CORNER CONSTRUCTION USING BD-35
6 |MESSENGER (SIZE AND TYPE AS REQ) AS REQ WITH FUSED 3-PHASE LATERAL AND 1-PHASE TAP
7 |PRESHAPED CONDUCTOR GRIP, COATED 6
8 |PRESHAPED MESSENGER GRIP 2 | DRAWING NO. REV
9 |POLE EYE PLATE 2 AC2103-01 0 SPACER CABLE SYSTEMS
10 [MACHINE BOLT, 5/8" X REQ. LENGTH 8
11 |INSULATOR PLATE, HENDRIX BP-1 2 DATE
12 |CONNECTOR (SIZE AND TYPE AS REQ) 7 7/10/15
13 [GROUND WIRE, SOFT DRAWN COPPER, SOLID #6 AS REQ
14 |GROUND WIRE STAPLE AS REQ
15 [SQUARE WASHER, 2-1/4" X 2-1/4" X 3/16" (MIN) 13
16 [HEAVY DUTY THIMBLE CLEVIS, HENDRIX TYPE HDTC 2
17 |3-PHASE FUSED CUTOUT ASSEMBLY (TYPE AND VOLTAGE RATING AS REQ) 1
18 |SINGLE PHASE CUTOUT AND LIGHTNING ARRESTOR ASSEMBLY 1
19 |DEAD-END CLAMP FOR BARE WIRE 1 H E N D R l x
20 |UNIVERSAL GROOVE CLAMP 1 \
21 |[MACHINE BOLT, 3/4" X REQ. LENGTH 4
22 |EYEBOLT, 3/4" X REQ. LENGTH 2
23 |EYENUT, 3/4" 1
24 |SHACKLE CLEVIS, HENDRIX TYPE SC 7 MARMON UTILITY LLCe 53 OLD WILTON RD. « MILFORD, NH 03055
25 |THIMBLE CLEVIS, HENDRIX TYPE TC 6

TELEPHONE: 603-673-2040 FAX: 603-673-1497 EMAIL: OVERHEAD@HENDRIX-WC.COM WEBSITE: HTTP:/WWW.HENDRIX-WC.COM
A MARMON WIRE & CABLE/BERKSHIRE HATHAWAY COMPANY




	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Detail View B (1 : 10)


